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Core Major- Paper III - FINANCIAL ACCOUNTING - II

Time : 3 Hours                                                                                                                      Max. Marks: 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. What is Branch accounting?
2. From the particulars given calculate closing branch debtor balance: Branch Debtor on 1-01-2016-   `60, 000; Credit Sales – `4, 00,000; Cash received from debtors – `4, 40,000.
3. State two objectives of preparing departmental accounts.
4. How would you apportion the following: a) Rent b) Depreciation on assets c) lighting d) discount allowed.
5. P purchased a TV on hire purchase system. The cash price of the TV was `7, 200. He agrees to pay 4 quarterly instalments of `2, 000 each. Calculate the interest of each quarter.
6. K purchases a motor cycle on instalment system. The total price of the motor cycle payable is Rs.4,000 as down payment and thereafter the instalment of `6,000; `5,000 and `2,000 payable at the end of first, second and third quarter respectively. Interest is charged at 5% p.a. Calculate the cash price.
7. What is instalment purchase system?
8. What is sacrificing ratio?
9. What is revaluation account?
10. Goodwill is valued on the basis of 3 years purchase of average profits of the preceeding 4 years. The   profits of the previous 4 years were: 2013 – `16,000; 2014 – `20,000; 2015 – `18,000; 2016 –        `26, 000. Find the value of goodwill.
11. A, B and C are equal partners. B retires. His share of goodwill is `9,000. The remaining partners have decided to continue the profit sharing in the ratio of 3:2. Goodwill is not to be shown in the balance sheet. Calculate the gaining ratio.
12. What is meant by dissolution of firm?
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. What are Independent branches? Explain its features.
14. Distinguish between departmental accounts and branch accounts.
15. The following information relates to Madurai Branch:

	Particulars
	`
	`

	Stock on 1.1.2014
	11,200

	Branch debtors on 1.1.2014
	6,300

	Goods sent to Branch
	51,000

	Cash sent to Branch for:-

	Rent
	1,500
	

	Salaries
	3,000
	

	Petty Cash
	500
	5,000

	Sales at Branch:-

	Cash
	25,000
	

	Credit
	39,000
	64,000

	Cash received from Debtors
	41,200

	Stock on 31.12.2014
	13,600



          Prepare Branch account for the year 2014.


 (
[P.T.O.]
)
16. From the following details of a businessman who sells goods of small value at cost plus 50%.        
         Prepare Hire purchase trading A/c
	1.1.2010       Stock out with the customers at H.P.Price
	  9,000

	                     Stock at shop at cost price
	18,000

	                     Installments due but not received
	  5,000

	31.12.2010  Goods worth `500 repossessed (Inst.not due `2000)
	

	                    Cash received from customers
	60,000

	                    Purchases made during the year
	60,000

	                    Stock at cost at shop (excluding the goods repossessed)
	20,000

	                    Installments due but not received
	  9,000

	                    Stock out at Hire purchase price with the customers
	30,000



17. On 1st January 2006 Baba & Co. purchased a machine on hire purchase basis, the total amount  
payable being `42,700. Payment was to be made `12,000 on that date and balance in three half – yearly installment of `11,400, `10,900, and `8,400 commencing from 30th June 2006. The vendor charged interest @ 10 p.a., calculated on half – yearly rests. Baba & Co. close their books annually on 30th June and provide depreciation @ 10% p.a. on reducing balance method. Determine the cash price of the machine and show the Machinery A/C in the books of Baba & Co.
18. Following is the Balance Sheet of X, Y and Z as at 31.12.2010.
	Liabilities
	           `
	Assets
	`

	Creditors
	4,000
	Cash in hand
	400

	Capital A/cs
	Cash at Bank
	10,000

	X
	20,000
	Debtors
	12,000

	Y
	10,000
	Stock
	8,000

	Z
	10,000
	Plant and Machinery
	12,000

	Reserve
	6,400
	Goodwill
	8,000

	
	50,400
	
	50,400



         Z died on 14.03.2011. Under the terms of Partnership deed the executors of a deceased partner  
         were entitled to:
a) Amount standing to the credit of partner’s Capital A/c.
b) Interest on Capital balance at 5% per annum.
c) Share of goodwill on the basis of twice the average of the past three year’s profits and
d) Share of profit from the closing of the last financial year to the date of death on the basis of   
the average of the three completed year’s profit before the death.
         Profit for 2008, 2009 and 2010 were respectively `12,000, `14,000 and `16, 000. Profits          
         were shared in the ratio of capitals. Draw up Z’s A/c to be rendered to his executors.
19. D, E, F and G are partners sharing 4:3:2:1. Their Position statement was as follows:
	 Liabilities
	`
	Assets
	`

	Capital Accounts
	Cash at Bank
	4,500

	D:
	90,000
	Machinery
	1,32,000

	E:
	60,000
	Stock
	60,000

	Sundry Creditors
	1,20,000
	Debtors
	1,20,000

	Bank Loan
	60,000
	Capital Accounts:

	
	F:
	10,500

	
	G:
	3,000

	
	3,30,000
	
	3,30,000


The Firm is dissolved. All assets realised `2, 46,000. The Sundry Creditors and Bank Loan were paid `1, 77,000 in full satisfaction. The expenses of dissolution are `1,800. G became insolvent and F paid only `9,000. Prepare Ledger accounts to close the books of the firm. 
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions

20. A Head office has its branches at Lucknow and Jaipur. The head office sent goods to the branches at invoice price which was cost plus 25%. Sales are made only at the branches which remit all cash received to head office. From the following details, prepare the branches stock and stock adjustment A/c’s and goods sent to Branches A/c’s as they would appear in the Bombay books.
	Particulars
	Lucknow Branch 
                          `
	Jaipur Branch 
             `

	Goods from Head Office at Invoice Price
	40,000
	25,000

	Returns to Head Office at Invoice Price
	600
	500

	Cash Sales
	19,000
	17,500

	Credit Sales
	12,000
	9,500

	Stocks – 1st Jan, 1995 (Invoice Price)
	6,000
	8,000

	Stocks – 31.12.1995 (Invoice Price)
	18,000
	11,000



21.  From the following information, prepare departmental trading and profit & loss A/c in a columnar form of the three departments of Sharma Dry Cleaners Ltd.
	Particulars
	Dry Cleaning
`
	Darning
`
	Dyeing
`

	Stock 1st Jan. 1996
	4,00,000
	3,40,000
	9,40,000

	Stock 31st Dec. 1996
	3,30,000
	4,38,000
	8,17,000

	Purchases
	19,59,000
	6,97,000
	13,73,000

	Sales
	40,00,000
	20,00,000
	40,00,000

	Wages
	7,28,000
	3,00,000
	2,46,000



   Goods were transferred from one department to another at cost price as follows:
a) Darning to dry cleaning `2,400 and to dyeing `40,200.
b) Dyeing to dry cleaning `25,800 and to darning `18,000.
c) Dry cleaning to darning `3,000 and to dyeing `24,000.
         Apportion equally:
Stationery -`5,418; Postage - `4,050; General Expenses - `2,37,618; Insurance -`10,080; Depreciation - `32,598; Rent & Taxes- `1,80,000 is to be split in proportion to space occupied, i.e., dry cleaning 4, darning 2, dyeing 2 and other space 2.

22. Malan purchased a machine on hire purchase system on 1st January 1993. The terms of payment are four annual installments of `12,690 at the end of each year. Interest is charged @ 5% and is included in the annual payment of `12,690. Shows Machinery account and Hire vendor account in the books of Malan who defaulted in the payment of the third yearly payment whereupon the vendor repossessed the Machinery. Malan provides depreciation on the machinery @ 10% p.a., on the reducing balance. 

23.  A and B are partners in a firm. They share profits and losses in the ratio of 3:1. Their Balance           
     sheet is as follows:
	Liabilities
	          `
	Assets
	         `

	Capital A-
	80,000
	Buildings
	1,00,000

	            B-
	40,000
	Plant
	25,000

	Reserve
	40,000
	Stock
	40,000

	Creditors
	60,000
	Debtors
	70,000

	Bills Payable
	20,000
	Cash
	5,000

	
	2,40,000
	
	2,40,000


            
 (
[P.T.O.]
)
               C is admitted into partnership for 1/5th   share of the business on the following terms:
                  a)   Building is revalued at `1, 20,000.
     	b)   Plant is depreciated to 80%
c)   Provision for bad debts is made at 5%
d)   Stock is revalued at ` 30,000.
e)  C should introduce 50% of the adjusted capitals of both A and B. Open the necessary     
      accounts and the new Balance sheet after the admission of C.
———————
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